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2. Create a table of values for the following eguations and graph them on the grid below
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Create the algebraic expression for these graphs below
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For the following word problems show your work by:
1) Creating a table of values to represent what’s happening

2) Define the variables

3) Create your algebraic equation (your RULE)

4} Solve the question asked

5} Graph the questions

**nood a few different ones**

o Kenzie really wants a new swim suit. It costs $275. @;izza palace charges a fixed amount for a basic pizza
? She currently has $52 saved in her account and plus an additional cost per topping. They charge 513

received $25 in birthday money. If she works for a 4 topping pizza, $16 for a 8 topping pizza and
babysitting earning $22 per week, will she have $11.50 for a 2 topping pizza. What would the cost of a
enough money in 12 weeks? 12 topping pizza be? :

@ A 2000L pool is draining at a rate of 200L/minute. @ You want a new phone and you've researched and
How many minutes will it take until it's empty? Wdiscovered that you can have a plan that’s $25 flat rate
plus $0.30 per minute. A second plan charges a flat

@ C,»\'Bue i (3\\{3 ol rate $42 a month.

Create a graph for both these equations on the same
grid and explain - :
1.which plan you should choose hefore the lines meet
2. what is means when the lines meet

3. which plan you should choose after they meet
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